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1 2 13 4 5 6 7 8 9 10 [ 11] 12 13 14 15 | 16 17 18 19
1 4 1 0,1 - - - 10C3 58 10,75 la | 24 26 360 2 [BCP icrosdyposi wkiasnku| 10 ¢
o 117 26 - - - 10C3 65 ]085{ 1la| 25 28 425 2 |BCP|cros6yposi wkianuku] 10 g
z 119 38 - - - 9C31 /13 67 {080 la | 25 28 380 | 2 |BCP|crorGyposi wkianukn) 10 g
2 211 1,3 - - - 10Cs3 57 [0,80] 1a ] 22 24 380 2 | BCP|croBbypoBi wikiiHuku| 15 ;

§ 3 |15} 25 - - - 10C3+13+Bn 66 (080 1 24 28 423 2 |BCP{croebypoei mxiawnku| 14 22

213T17fos [ - - - 5132031001261y | 161 [0,55] 3 1 25 | 50 | 270 | 2 |BCP|cros6yposi wkiannkn| 10 g3

§ 519 37 - - - 10C3+[3+Bn 66 [0,70| ta ] 25 28 350 | 2 |BCP]crosbyposi wkigvnku| 12 g &
g_ 712110 - - - 7C3(55)3Cx(71)+Bn 55 [0,75] 1a ] 23 26 360 | 2 |BCP|crosbyposi mkiannkn| 11 3
S1L71371101 - - - 10Ca 96 {0,551 2 125 | 30 280 { 2 |BCP|crosGyposi wkiannkn] 14 2
71 4] 04| - - - 10Ca 52 10,80} 1 | 20 | 24 310 | 2 |BCP|crosbyposi mxiaunkn| 10 5
715 ] 07 - - - 10Cs 66 1070} la ] 26 28 403 2 |BCP|crosbyposi wkiaunku| 15 °




MpodoexernnHn mabnuyi
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1 2 |3 4 5 6 7 8 9 1 1|12 13 14 15116 17 18 19

716 2.4 - - - 10Cs 106 | 060 | | 28 36 380 2 | BCP[cToBGyposi wkiaHukH 13

8 |1 09 | - - - 10Ca 111 1060 2 | 27 36 360 | 2 [BCP|crosbyposi wkiaynku| 10

8 |12] 05 - - - 10C3 101 060 1 27 34 370 | 2 |BCP]crosbyposi mkiauukn| 10

8§ 115] 05 - - - 10C3+/I3+Ba 86 10,751 1 25 28 430 2 _|BCP|croebypoesi mkianuku| 10

8§ |]16] 23 - - - 10C3 33 10,70 3 15 18 220 | 2 [BCP|crosGyposi wixignuku| 10

8 |17 0,2 - - - 16C3+Bu 86 10,55] 1 25 30 310 2 |BCP|crosbyposi wikiannku| 10

9 121 21 - - - 10C3 58 10,751 1 21 22 345 2 _|BCP|cToebypoei wkiaunku| 16

9 {51 05 - - - 10C3 71 (0757 1 23 32 360 | 2 IBCP|croebypori mikiannkn] 18
1317 42 - - - 10C3+60+/I3 66 (080 la ] 25 28 435 2 _|BCP[crosGyposi wkighuku| 14 %
18 110 ] 3,2 - - - 10C3+Bn 87 10,70] 1 27 32 450 2 | BCP [cTosfyposi wkianuku| 10 g
g |29 2 1.7 - - - 8C326n 71 10,70 1a | 28 32 380 | 2 {BCP|croebyposi wkignuku| 30 -]
& |29 4 1.4 - - - 10C3 66 10,70 la | 25 26 380 2 |BCP|crosbyposi wmkiaHukn| 20 §
% 3211 2,8 - - - 9CalBn 66 10,70 1a | 25 26 350 2 |BCP|crosbyposi wikianrku| 18 &
213221} 06 - - - 9C3(91}1C3(81) 91 10651 1 28 42 430 | 2 [BCP|crosOyposi wkigHuxu| 16 g
E‘ 32 {14 | 20 - - - 6C33Bn1 B 76 (0,50 la | 27 32 235 2 |BCP|cToBOypoBi wkiaHWKH] 15 g
5 143 |18] 3.9 - - - 9C31Bn 54 10750 la ] 22 26 330 2 |BCP|cToBbyposi wkianuku| 10 =
;«3_:' 5215 0,7 - - - 7CY57)3CH67)+Bn 57 10,75 la | 22 26 345 2 |BCP|croBbypoBi wikigumku| 19 g
CiTlie] 34 - - - 10C3+Bn 91 10,70] 1 27 32 410 2 |BCP{cToBOypoBi wxiaHuku| 12 £
74 | 3 1,1 - - - 7C336n 49 10,70 1 20 22 240 | 2 |BCP|crosbyposi wkignuku] 10 ;
76 124 19 | - - - 8C1260+/3 59 1075 1a | 25 | 28 | 360 | 2 |BCP|croebyposi wkinuuku| 14 Z

781 4| 72 - - - 10Ca 74 1080} la | 27 30 515 2 |BCP|crosbypoBi wkiaumkn| 18

82| 10] 1,0 - - - 8C3k(111)2C3x(81) I 10,70 2 28 36 465 2 |BCP|croebypoBi wkiguuku| 18

83 (11| 26 - - - 9C31Bn 91 [0,70] 1 27 32 420 2 |BCPjcToBOypoBi tikiauuku) 16

83 1124 0,7 - - - 9C31En 66 10,50 la | 25 26 265 2 |BCP|cToBOypoBi wikianuku| 18

85| 7 2,6 - - - 10C3+ Bn 66 [0,70| la | 25 28 383 2 |BCP{croBbypoBi mkiaHuku| 16

857 87 0,7 - - - 5C3(111)2C(60)3/13 111 10,55] 2 26 36 290 2 |BCP|cToBOypoBi wkignuku| 16

86 | 10| 09 - - - 9C3(86)1C3(61)+113 8 |1075| 1la| 29 32 493 2 _|BCP|crosOyposi wkianuku| 10

86 | 13 1,6 - - - 6C3dfia 191 {035} 2 28 44 200 2 | BCP|croebypoRi LiKiAHMKK 10
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2 (3 5 6 7 8 9 10 P11 ] 12 13 14 151 16 17 18 19
9319 | 35 - - - 16C3 91 10,70 1 29 36 463 2 [BCP|croBbypoBi wkignnkn| 15
95| 8| 09 | - - - 10C3+Bn 76 10,60 1 24 26 313 | 2 [BCPjcroeOyposi wkignuku| 10
95t 171 09 | - - - 8C3(121)2C381) 121 ]050] 2 | 29 46 320 | 2 |BCP|cToBbyposi wkianuku| 10
9 [ 14| 07 - - . 4C3(15N4CH81 203 151 10,55 2 29 54 320 2 | BCP|croBbyposi uikiauuku 12
99 22| 20 | - - - 10C3 91 1065] 1 28 32 415 2 [ BCP/[croeGypoi wxigHukn| 15
102 5 148 | - - - 5C33/13 1 Bar) Oc 71 10,70 ta | 27 32 340 2 [BCP |cToBOypoBi LIKiAHMKH 12
104! 6 | 2.8 - - - 6C3(864C3(120) 86 10,701 1 27 32 460 | 2 |BCP|crosbyposi wkianuku| 10
104] 71 0,5 - - - 7C3(171)3C3(90) 171 | 0,60 29 48 380 | 2 |BCP|croBbypoBi uikinHuku| 14
109] 1 1256 [ ()| 250 25,0 10C3+713+Bn 67 1075[ 1a | 25 28 405 2 |BCP [croBGyposi wkignuku{ 10
109{ 2 | 09 [(H| 04 0,4 10C3 37 10,60 1 20 22 255 2 |BCP|cros0ypoBi wxiaHuku| 10 §
111] 8 1,1 - - - 10C3+03+Bn 116 10,504 2 27 36 304 2 | BCP|cToBbyposi mkianuku| 15 2
g [} 9 3,2 - - - 4C3(116)3C(86)3113 116 { 0,55 2 28 38 310 2 | BCP|cToBOYpOBI IKITHWKH 15 ;
s (11112 22 - - - 10C3+ 113 91 |060[ 2 | 25 28 340 2 |BCP|cToebypoeBi wkignuku| 10 §
% 128] 6 1.6 - - - 10C3+3+bn 58 [0,75] 1 22 24 340 2 | BCPcTrorOypoBi wkiaHUKKH 12 s
2 11281 7] 07 - - - 7C3166)2C3 76)1 113 66 1065 ta | 26 28 380 | 2 [BCP|cTorOyposi wikianukui 15 é
E‘ 128] 13 i,4 - - - 8Ca2/1:+bn 66 [0,70] 1a | 25 28 365 2 | BCP|cToBOypoBi LIKinHHKH 15 E
5 [131] 8] 08 | - - - 7C3(91)2C3(61)16n 91 1060 1 | 28 36 350 | 2 |BCP|cTosbyposi wkinuuku| 12 5
g9 2] a7 [ - - - 10Cs 92 10,70] 1 | 29 | 38 [ 430 | 2 [BCP[cros6yposi wkiznmxu| 10 3
© 1139] 3 4,4 - - - 10C3 102 10,60 1 30 40 435 2 _|BCP{crorbyposi wkianuku| 10 g
1391 5 [ 2.7 - - - 10C3 97 10,70 1 28 36 430 | 2 |BCP|croBbypoBi ikinHukn| 12 ;
139] 6 2.5 - - - 10C3 82 [0,70| 1la | 28 34 425 2 {BCP{crosbypoei wkisnku 10 _3
1531 2 | 5.8 - - - 10C3 101 10,70} 1 29 36 430 2 _|BCP|crosbypoBi wxignnkn| 14
153] 7 ¢ 3,7 - - - 10C3 91 10,70 1 28 32 430 2 [BCP|crosdyposi wkiaxuku] 10
1541 1 9.7 ()] 1,1 1,1 10C3 101 10,70 { 1 29 36 470 | 2 [Bcp croBOypoBi Wwkinuuku|{ 25
154| 5 6,0 - - - 10Cs 101 10,70 | 1 28 36 435 2 | BCP|croebypoBi mikiauvkn| 20
1541 71 09 | - - - 10Ca 86 10,70 ] 1 27 26 463 2 _'BCP|crorGypoBi wxianuku| 20
155/ 21 2,0 - - - 10C3 86 [0,75] 1 28 36 470 2 |BCP|croBbypoBi wikinnuku| 10
1551 3 [ 235] - - - 10C3 9 [0,75] 1 28 36 437 | 2 |BCP|cToBbyposi mikinyukn| 10
167 2 1.0 - - - 10C3 56 10,70 1a | 24 26 340 | 2 |BCP[croBbyposi wkinguuku| 15
1671 11| 0,6 - - - 10Ca3+Bav 81 {0,701 1 27 28 420 | 2 |BCP]croBOypoBi wkigHKkH| 15 -
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1 2 13 4 5 6 7 8 9 10 {11 | 12 13 14 15 ] 16 17 18 19

713 ] 09 - - - 8C31/1316n 56 1070 1 21 24 260 | 2 |BCP|croGyposi wkiniuku 20

7 1 4 1,8 - - - 10C3+ /13 67 10,70} la | 26 26 405 2 |BCP|croeGyposi wkiahnku] 20

7 [13] 18 | - - - 9C31/13+Bn 55 10701 1 ] 21 20 280 | 2 |BCP[croBbypoBi wkiaHuku| 15

7 1141 26 | - - - 8C32]1a+Bn 65 10,70 | 1 24 28 340 | 2 jBCP|croBOypoBi likiaHKku] 20

1313123 - - - 6C34 /13 76 10.20] la | 27 28 110 | 2 |BCP|croBOyposi wkigHuku| 20

13| 8 27 - - - 7133C3+bn+Oc 57 10,70 la | 23 24 300 2 | BCP |croBOypoBi kignuku| 25

181121 22 - - - 10C3+Bn 55 10,70 la | 23 22 345 2 | BCP |cToBOypoBi mkiaHuku| 15
21 | 1 2,1 - - - 8C31/1316n 67 1060 1 23 28 270 2 [BCP fcToBOypoBi wkiaHuku| 20 2
22 1 4 2,3 - - - 10C3 69 10,751 la | 26 32 430 2 |BCP [cToBOypoBi iukigHuku| 20 g
g | 2815 ] 33 - - - 7C3(151)2Ca81)1 13 151 [024] 1 32 60 150 2 |BCP{crosGypoBi WKias#HkKH| 20 ¢
= 128112 1.3 - - - 9C31Bn 46 10,751 1 18 20 250 2 |BCP|crosGyposi WwkiaHHKKH] 20 §
% 291 5| 21 - - - 10C3 s8 [0,70] 2 | 19 30 250 | 2 {BCP|crosbyposi wkinsnku] 20 %
512916 ] 09 - - - 9C31 1s+bn 66 1065 1 24 28 310 2 |BCP|crosOyposi mikinuvku| 20 g
§. 291 7] 21 ] - - - 10C3+/3 67 1075] 1 | 24 | 24 381 | 2 IBCP|crosbyposi wkianvku| 15 g
5 291 8 2,3 - - - 10C3+[3 35 1060} 1 21 22 250 2 |BCP|cToBOypoei mikiaHuku| 20 ;
S 13719 2,6 - - - 7C33 13 151 10,20 1 26 44 140 2 |BCP |cToBOypoRi WIKiAHHKH 15 3
Sl 27 - - - 10C3+ /13 151 [020] t [ 31 [ 44 | 170 | 2 [BCP|cros6yposi mxianuknl 20 3
58191 2,1 - - - 8C32113 52 10,70 1 19 24 240 2 [BCP|crosOypoRi mkigHuku| 15 E
59 111 1,4 - - - 9C316n 101 10,60 1 30 40 370 2 [|BCP|croBOypoBi mikigHuku| 20 z

62 1 18] L3 - - - 8Ca2bn 52 10,70] 1 19 22 230 | 2 |[BCP)cTopbypoBi mkigHugu| 20

721 7 1160 | - - - 10C3+]13 67 [075] 1 22 22 342 | 2 |BCP|crosbyposi wxigHuku| 20

731 7] 05 - - - 10C3+Bn 48 10,65] 1 19 18 230 2 | BCP{crosfypoBi kignuku] 20

7516 1 7.2 - - - 4C3(171)3C3(81) 171 1040 2 | 30 48 250 { 2 MBCP|crosbypoBi wKiaHHKK 8

75 112 42 - - - 10C3+Bn 55 10,75] ! 19 18 273 2 |BCP|croebypori mikiaavkn| 10

76 | 1 6,0 - - - 7C32/1315n 76 10,65] la | 28 34 350 | 2 |BCP|croBbyposi wikinanuku| 20

76 | 2 | 53 - - - 10C3+]13 66 10751 1 24 26 380 2 | BCP|croBOypoRi wikiaHuku| 20
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1 2 13 4 5 6 7 8 9 10 [ 11| 12 13 14 15 [ 16 17 18 19
77 11 ] 2.1 - - - 10C3+ /i3 57 1065] 2 18 22 225 2 | BCP|crorbypori wkiannkn| 20
85| 31| 04 | - - - 10C3 48 10,75] 1 19 16 270 | 2 |BCP[crosbyposi wkianuku| 20
871 1 0,4 - - - 10C3+AKD 54 10,80 1 21 20 340 2 |BCP|croebyposi mkiaHnkH| 10
87| 2 1,2 - - - 10C3 49 10,70} 1 20 20 295 2 IBCP|croBbyposi mikiniuku] 10
871 3 1,0 - - - 10Cs 67 [0,70}) 1 24 24 360 2 {BCP|crosOyposi tkianukn| 10
90 | 12| 33 - - - 10C3 161 1025 2 | 30 42 240 2 {BCP|crosOyposi likiasukk| 135
94 1 15| 44 - - - 10C3+[13+bn 67 10,751 1 24 24 380 2 |BCP!crosGyposi wkitHHkH| 20 §
95 112 | 1,2 | - - - 10C3+]13 66 10,801 1 | 23 26 380 | 2 [BCP]|croOyposi wkianuku|[ 23 5
3 101] 9 8,5 - - - 7C3(126)2C3(81)1 /13 126 10,20 1 30 44 190 2 | BCP |cTopOypoBi kigHHKH| 20 E
£ [104] 6 | 1,1 - - - 10C3 53 [0.75] 1 19 20 300 | 2 |BCP|crosbyposi wkianukuj 14 £
% 104 7 1,2 - - - BC3(96)2C3(61) 9% 10,50 1 27 36 290 2 [BCP|crosbyposi wkinnvku| 15 §«
= 1104[10) L9 [()y 1.8 1,8 7C3(1712C3(91)16n 171 10,20 1 28 52 160 2 |BCP|cToebyposi wkigtivku| 21 g
:o_s. 1061 6 | 3.0 - - - 6C32/132611 4 Oc 55 10,80} la | 22 22 304 2 |BCP|crosbyposi wikinuuku| 21 ;E;
g 1081 17 ] L1 - - - 81132C3 111 020 1a j 26 38 105 2 {BCP|cToBbyposi wkianvku| 10 =
o124 8 | 7.1 - - - 10C3+ 13+ Bn 66 [070 1) 24 30 368 2 |BCP{croebyposi wkinnwkn| 20 ]
= [132] 4 120 | - - - 10C3 106 10,651 1 28 34 400 | 2 |BCP]croBGypoBi wkiaHukn| 20 E
1331 8 [ G4 | - - - 10Cs 65 1020 1 27 30 180 | 2 |BCPjcrosbyposi wixignuku| 20 ;
134 2 | 03 | - - - 6Ca4/l3 66 [020]1a| 26 { 28 100 | 2 [BCP|crosbyposi wmxignuku] 20 Z
1381 5 1.7 - - - 10C3 65 1080 1 23 28 380 2 |BCP|croebyposi wmkiannkn| 20
1427 1 18 [ - - - 10C3+Knr 71 10,75[ 1a | 28 32 505 | 2 |BCP|cronOyposi wkianuku| 20
1421 7 1,5 - - - 10C3+Bn 56 10,70} 1 21 22 310 | 2 {BCP|crosbypoBi mkiannku| 20
1554 1 {355 | - - - 10C31Bn 49 1085] 1 18 18 250 2 |BCP|crosOyposi wkiasvkn| 19
1581 12 { 6,8 - - - 9CslBn 48 10,80 la | 20 22 290 2 BCP|croBOypoBi wkiaunkn| 18
1621 9 [ 165} - - - 9Cal up+ /13 52 10604 1 19 | 22 220 2 |BCP{crosbyposi wkiavukn| 18
BCbOro | 360,6 1.
.
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